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o GUIDED NOTES: Geometric Properties
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Anal | two angles that are directly across from each
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Alternﬁe Exterior | tWo angles outside parallel lines and on different
. sides of the transversal
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ConEJecutive two angles between parallel lines and on the
: ) same side of the transversal
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‘Consecutive two angles outside parallel lines and on the
; . same side of the transversal
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Triangle Congruence

Picture

Definition

Angle-Side-Angle
(ASA)

two angles and the side between them of
one triangle are congruent to two angles
and the side between them of the other
triangle

Side-Angle-Side

two sides and the angle between them of
one triangle are congruent to two sides

(SAS) and the angle between them of the other
triangle
: . . all three sides of one triangle are
Sldezggj;Slde congruent to all three sides of the other

triangle

Angle-Angle-Side
(AAS)

two angles and a side not between them
of one triangle are congruent to two
angles and a side not between them of
the other triangle

Hypotenuse-Leg

the hypotenuse and a leg of one right
triangle are congruent to the hypotenuse

The Donkey
Theorem:
You can't travel
(AAA) by Donkey
(SSA) to triangle
congruence!

(HL) and a leg of the other right triangle
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